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* 19 Ol Rl (kcal)= Bt 3t= 4, A 4, A 9kcal 2 it

<2 WP HHYS YRURE IRUNA Y FUYY BRYUTH

* AP 27| HE

271/5271/22 2
40l SH (I BEE

01.45%, 02.27, 03.0Y, 04.%8-F, 05.0HF, 06.2, 07.150{, 08.7, 09.A1%, 10.54Z| 17|, 11. 550}, 12. EOLE, 13.0}g4tE 145 5%, 15.H
17],16.4/17], 17.210'01, 18.2F7 (=, 15, 88 23, 19.%

* 225t MO AFEE = MM IS EHRYUS. x MH2 g SO OEf #57Hssrey gL,

)4, 2= FUHLARIEE 2) AR FEIR)/LZILE - I 3) /58 T4t 4) 4107|7155 - AR/ == R4 5) HR|L
/LR7|(PHEERERY) FHA 6) YOl HL 7) ER] 20 23 AF 0| 2R Y0, S0, A 227,01, 72 H] fFHo| H = ]
) =Uiat 8) JR, 20| HEG 9) FEY 1 S{AIOF 10) ZX[  MUIZ 11) 2HO0/7tEF - T4/ +=YU L
* A2 & HAA| (R )

N w5 S8R0 AHEots /AT F(EM = e, 20|, 20 Y REE XY)

2) B2 Y2 Z|, 20|, WAUR|, BYUZ|, B2 L2(7IEF SOAEst= iR/ 20l Hf =/F-FHl =

3) LE7E: B 22|, 2E0|, BAR|, Hi2UR|7IEF S0l Ar&ste L27t&

4) /7S F FRE YA, 3300 A8t /373 E

5) TR &Ef, 501 S A=t U2 Al



